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QUESTION 1

You have created a message mapping using drag and drop from the source to the target element. When testing the
mapping by entering a single value for the source element, you notice that the target element has been created with 3
occurrences. Each target element occurrence is filled with the same value as the source element.

What could be the reason for this behavior?

A. The data type for the source element has the occurrence property maxOccurs=3.

B. The data type for the source element has the occurrence property minOccurs=3.

C. The data type for the target element has the occurrence property maxOccurs=3.

D. The data type for the target element has the occurrence property minOccurs=3.

Correct Answer: D

QUESTION 2

Which of the following configuration objects can you use to activate XML validation of a message payload in SAP
NetWeaver Process Integration? (Choose three)

A. Integrated configuration
B. Interface determination
C. Receiver agreement

D. Receiver determination
E. Sender agreement

Correct Answer: ACE

QUESTION 3

In which cases do you need to use ccBPM processes? (Choose two)
A. When collecting messages

B. When querying databases

C. When using a synchronous/asynchronous bridge

D. When using scenarios that are based on an AEX installation

Correct Answer: AC
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QUESTION 4

Which modeling environments does Enterprise Services Repository offer in SAP NetWeaver Process Integration?
(Choose two)

A. Visual Composer

B. Unified Modeling Language (UML)

C. Process Integration scenario

D. Business process modeling notation (BPMN)
E. Process Component Architecture Model

Correct Answer: CE

QUESTION 5

After you have activated an integration process, you check the transaction SXI_CACHE. A return code is displayed for
your integration process that is unequal to 0. What do you check to solve this issue? (Choose two)

A. Whether the status of the process signature is set to incomplete

B. Whether the activation log file contains error messages

C. Whether the Customizing is complete (transaction SWF_XI_CUSTOMIZING)
D. Whether the event trace is switched on (transaction SWELS)

Correct Answer: BC
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